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Special credit will be given for accuracy and relevance
in the answer. Marks will be deducted for incorrect
spelling, untidy work and illegible handwriting.
The weightage for each question has been
indicated in the margin.
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Answer any two questions :

(2)

(b)

(d)
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English Version

20 x2 =40
Discuss the Classical Theory in determining
the equilibrium total income, wage rate,
employment and interest rate.

Explain the concept of Permanent Income.
Discuss the main theme of Permanent
Income Hypothesis. 5+ 15
Distinguish between Autonomous
Investment and Induced Investment. Give a
comparative analysis of Present Value
(Marginal

Approach and  Keynesian

Efficiency of Capital)] Approach of
investment. S+ 15
Give an outline of Harrod-Domar Model of
economic growth. Discuss Amartya Sen's

treatise in explaining instability of

Warranted Rate of Growth. 12+ 8
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2.  Answer any three questions :

()
(b)

(d)

12 x 3 =36
Discuss the Circular Flow of Income.
Compare between the salient features of

Classical and Keynesian models.

Discuss the effects of a fiscal policy upon
National Income in Simple Keynesian

Model. Explain Balanced Budget Multiplier.

4+8

(i) Define Marginal Propensity to Consume
and Autonomous Consumption. (ii) Given
the national income identity Y= a + bY + I,
where a = Rs. 20 crores, b = 06 and
I = Rs. 20 crores, find the value of
equilibrium national income. (iii) Given the
consumption function C = 0-5Y + 40, and
I = Rs. 60 crores, find the equilibrium
values of national income, consumption

and savings. 4+2+6
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() Discuss Fisher's Transaction Version of () Explain Inflationary Gap.
Quantity theory of Money.
H Discuss the Sticky Price Model.
(f) Construct the IS and LM curves and
(g) Discuss Kaldor Model of economic growth.

delineate the features of the two curves.

4+4+2+2 (h) Discuss the significance of inside and

3 Answer any four questions : 6 x 4 = 24 outside lags and of Political Business
Cycles with respect to stabilization policies

(@) Explain the significance of Walras' law and
of Business Cycles. 3+3

J B Say's Identity in respect of the Classical

Theory.

(b) Explain Crowding out effect with the help of
[S-LM model. Discuss the relation between
the slope of IS curve and the extent of

crowding out. 2+4

(c) Discuss 'Ratchet Effect' of consumption.

(d) Discuss the factors which determine

marginal efficiency of capital.
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